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三、試題答錯者不倒扣。
I.  In questions 1-20, please choose the best possible identifying phrase for each.

Authorities don’t expect delays on subways, buses and tunnels Friday, a day after Occupy Wall Street demonstrators converged on New York City to mark a nationwide “mass day of action.”
1. Which of the following is not true?

(A) There is no delay.

(B) Authorities had not thought that the traffic was supposed to be bad.

(C) The protestors took to the streets.

(D) Protest caused traffic delays.

2. Occupy Wall Street is a movement of fighting ________.

(A) issues of unemployment       (B) stock gains tax

(C) economic inequality          (D) mass day of action

3. Grammatically, the underlined word “converged” is the ________.

(A) past tense    (B) present participle   (C) verb root   (D) past participle
Steve Nash, only the heart and soul of the Phoenix Suns for the last eight years, won his second-consecutive MVP. And Babby was the new guy, the attorney-turned-baseball executive-turned sports agent-turned NBA executive, hired by the Suns in 2010 as team president. First and foremost on his to-do list was The Nash Situation. The Suns have traded Nash, replacing him with Goran Dragic and first-round pick Kendall Marshall. They brought in two former high lottery picks from Minnesota, Michael Beasley and Wes Johnson. They tried to sign Eric Gordon from New Orleans.

4. This piece of news is talking about ________.

(A) professional volleyball       (B) Olympic games

(C) professional basketball       (D) baseball

5. What is Steve Nash?

(A) the MVP     (B) an athlete    (C) an attorney   (D) a merchant

6. Which of the following is not true?

(A) The Nash Situation deals with the trading Nash for nothing.
(B) Nash’s career with the Suns nears its end.

(C) Goran Dragic will play for the Suns.
(D) Nash is the two-time MVP.

7. How many teams are mentioned in the paragraph?

(A) two       (B) three     (C) four     (D) five

8. The best translation “lottery picks” with Chinese Pinyin could be ________?

(A) le tou xuan hao          (B) zhong da le tou 
(C) cai quan zhong jiang      (D) xuan xiu da hui
Although there has been shift in power -- the Popular Party (PP) took over after general elections in November 2011 -- the political arena continues to be dominated by the two largest parties, PP and the Socialist Party, PSOE. Instead, citizens have mainly channeled their frustration over austerity measures through social mobilization, while the political landscape has remained virtually the same. Public discontent may then shift from the streets to the political stage although the indignados have been discredited by the right-wing mass media as being a marginal force mainly followed by perroflautas.
9. What country is talking about on this piece of news?

(A) the USA    (B) Taiwan, R.O.C.   (C) Spain      (D) France

10. Which of the following is true?

(A) The political will change their measures because their people are frustrated.

(B) The government will implement the reforms, which will result in further 
reductions of social welfare.

(C) Citizens are frustrated because there are only two political parties in this
country.

(D) The right-wing mass media has highly spoken of those people marching in the streets.

11. The underlined word “discontent” means ________.

(A) striking     (B) temptation      (C) anger      (D)demonstration 

12. The italicized words in this passage seem to be ________.

(A) Spanish     (B)English         (C) French     (D) Chinese Pinyin
13. What does the underlined word “discredited” mean?

(A) to damage in reputation          (B) to be considered

(C) to ignore                      (D) to be disappointed

On Monday the governor of the People's Bank of China proposed expanded use of an alternative -- the International Monetary Fund's SDR, or Special Drawing Right, an accounting unit based on the euro, Japanese yen, pound sterling and U.S. dollar.

14. According to the passage, which of the following is true?

(A) SDR is a currency.                   

(B) China backs alternative to U.S. dollar.

(C) The RMB (renminbi) is part of SDR. 

(D) “￡”is not an accounting unit of SDR.
The growth of tax refund fraud committed by identity thieves in one of the IRS most significant challenges. The IRS has trained 40,000 employees to deal with the problem.

15. What caused the growth of tax refund?

(A) The IRS made the significant mistake.

(B) The unemployment rate rose.

(C) Employees have personal problems.

(D)Criminals used the fraudulent identities to file a tax return.

The Feb initiated its $600 billion bond-buying program. As a way to stimulate the economy while keeping interest rates low and spurring more lending and spending.

The Feb haters, of which there are many, worried QE2 would keep long-term interest rates too low for too long and further weaken the already puny dollar.

16. Which of the following is true?

(A) The second round of quantitative easing could make interest rates higher.

(B) The Feb did not support the case for QE2.

(C) Dollar may be headed for a bounce.

(D) The market does not believe the Fed will continue QE2.

17. What’s the purpose of QE2 policy?

(A) to hedge against the low interest rates   (B) to make the US dollar stronger

(C) to impede the economic growth        (D) to spur the economy

Opportunity plugs away as new Mars probe nears landing. Rocks and minerals found on Earth are different than on Mars, but the idea of a mountain made of layers is familiar to scientists. Unlike on Earth, however, Mars has no plate tectonics, so the Martian layers are flat and not disrupted as they would be on Earth. 
18. It’s the exploration of _________.

(A) the Red Planet  (B) the Moon    (C) the Earth    (D) the Mercury Planet

19. The underlined words “plugs away” could mean ________.

(A) to abandon     (B) to work hard  (C) to predict   (D) to get rid off

Both the Federal Reserve and the European Central Bank held back on offering new measures to stimulate the economy, dashing investor hopes.

20. The underlined word “dashing” is the ________.

(A) gerund   (B) noun   (C) present participle   (D) past participle

II.  For Questions 21-30, please select the correct translation.

21.  她之前就已經說過她去過歐洲了

    (A) She have said that she have traveled to Europe.  

    (B) She said that she had been to Europe.

    (C) She had said that she have been to Europe.

    (D) She was saying that she did travel to Europe.

22.  在走了3億5千2百英里後，”好奇號”抵達了火星的領土上。

(A) Traveling 352 million miles, Curiosity made its arrival on Martian terrain.

(B) After having traveling 352 trillion miles, Curiosity has arrived at Martian terrain.

(C) After traveled 352 billion miles, Curiosity arrived at Martian terrain.

(D) Curiosity has arrived Martian terrain after had traveled hundred of 352 millions.

23.  這個價格太貴了，我付不起。

(A) The price is so expensive that I can’t afford it.

(B) The price is too expensive so I couldn’t afford it.

(C) The price is too high, I can’t afford it. 

(D) The price is too high and I couldn’t afford it.

24.  期盼收到回音。

(A) We’re looking forward to hearing from you.

(B) We look forward to receive your reply.

(C) Looking forward to have your news.

(D) We hope to hearing your response.

25.  如果沒有人反對，這個法案將會通過。

(A) If no one objects, the law will be passed.

(B) Provided that no objection is raised, the bill will be passed.

(C) As long as there is no one disagrees it, the regulation will pass.

(D) In case that none opposed, the legislation will pass.

26.  I’m all ears.

(A)我在聽音樂    (B) 我洗耳恭聽   (C)我悉聽尊便    (D)我聽說了

27.  That’s one tight game.

(A) 那是一場一面倒的比賽          (B)那是一場很緊張的比賽

(C)那是一場不公平的比賽           (D) 那是一場比分很接近的比賽

28.  She’s really raking it in these years.

(A)她這些年非常忙碌               (B)她這些年很落魄

(C)她這些年賺了很多錢             (D)她這些年真的老了很多

29.  Back in the day I saw him.

(A)一天前我才見到他               (B)好多年前我見到他

(C)回想起我見過他                 (D)不久前才見過他

30.  She has a sweet tooth.

(A)她愛好甜食   (B)她說好話   (C)她有一口好牙  (D)她笑容可掬

III.  Questions 31-40 are questions about the abbreviation, please select the correct answer.

31. GOP leaders may punt spending bills to next year.

(A)美國參議院   (B)美國民主黨   (C)美國共和黨   (D)美國國民所得

32.  France is the second-largest backer of the EFSF.

(A)國際貨幣基金                 (B)關稅及貿易組織  

(C)歐盟高峰會                   (D)歐洲金融穩定基金

33.  OPEC produces about a third of the world’s 88 million barrel-a-day output.

(A)亞太經合會                   (B)石油輸出國組織

(C)聯合國海洋法公約             (D)電力光纤
34.  The view in Brussels was, if the ICAO process was going to be delayed then the
 EU would go its own way.

(A)紅十字國際委員會             (B)國際金融公司

(C)國際民用航空組織             (D)國際奧林匹克委員會

35.  The battle over whether America should adopt a VAT will be a bloodbath.

(A)退休制度                     (B)附加價值稅

(C)全民健保                     (D)歐債危機

36.  An FDA advisory committee voted against Qsymia’s approval in 2010.

(A)美國食品藥物管理局           (B)美國聯邦調查局

(C)美國觀光局                   (D)美國專利商標局

37.  CT scans expose children to radiation that could give them cancer.

(A)核磁共振攝影                 (B)羊膜穿刺

(C)電腦斷層掃瞄                 (D)二手煙

38.  Please contact us asap.

(A)當您方便的時候               (B)盡速

(C)經常                         (D)有需要的時候

39.  NASA hasn’t exactly been waging a full-on “PR campaign” against the movie “2012”
(A)美國電影藝術與科學學院       (B)北美自由貿易協定

(C)美國智慧財產局               (D)美國國家航空暨太空總署

40.  Our payment is based on D/P 30 days.

(A)付款交單                     (B)承兌交單

(C)欠款清單                     (D)憑單付款

IV.  Questions 41-50 refer to translation theories, please choose the best answer.

41. Which of the following is not a translation theorist?

(A) Peter New Mark                (B)Eugene Nida

(C) Lawrence Venuti                (D)Robert Mundell

42. In the translation from English to Spanish, Spanish is called ________.

(A) Target language                 (B)Source language

(C) Latin language                  (D)Original language

43. Which of the following movie title’s translation is applied the approach of 

“Domestication”?

(A) Crash is titled in Chinese as “衝擊效應”
(B) Slumdog Millionaire is titled in Chinese as “貧民百萬富翁”
(C) The Departed is titled in Chinese as “神鬼無間”
(D) Moulin Rouge is titled in Chinese as “紅磨坊”
44. Which of the following factors plays a key role for the translation?

(A) Budgets       (B)Cultures     (C)  Politics     (D)  Dictionaries

45. Which of the following TV series title translation is free translation? 

(A) Marco Polo “馬可波蘿”        (B) X File as “X 檔案”
(C) Dallas as “朱門恩怨”          (D) Three’s Company as “三人行”
46. Based on the approach of “Foreignization”, the word “queer” could be translated in Chinese as ________.

(A)酷兒         (B)古怪的       (C)同性戀者     (D)小丑

47.  The movie title “Crouching Tiger, Hidden Dragon” is a kind of ________.

(A) free translation                (B) literal translation

(C) simultaneous interpretation      (D) Explanation translation

48.  Which of the following is a cultural reference to Chinese people?

(A)the gay       (B)diving        (C)fantastic      (D) to spend a penny

49.  When the phrase “black and blue” is translated in Chinese as “鼻青臉腫”, it is a

   strategy of ________.

(A)adding notes                  (B)omission     

(C)cultural substitution            (D)paraphrasing

50.  The name “馬英九” translated as “Ma, Ying-jeou”, is used the strategy of _______.

(A)ideological translation          (B)traditional Chinese 

(C)political-translation            (D)transliteration
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